FH "

VPLAR S
® TS
A
|
(D: T T\ —
PR

® ~miyit

1. TETIEFORRA BN HRLRG .

VPL31010

:
H
:
i
&
8
3

® %,6o1 ] 1988
QR RIS OIS | | OFEEOR
VPL 2 10 08
1 2 3 4
1: 100Z51 06: 1/8
VPL: —HI=5 .= 06: 1/8
e 2. 200&%l 10: —(IE 08, 1/4
e
1532451
TTWIHEER S : A8 #8042 PT1/4M200R3 =B FHiE,
EffRmRGEITIEE: VPL21008
® S
TYENR TS, (R A40pumL BRI R)
=) sEN FiRERN
BEOR PT1/8 PT1/4 PT3/8
BUEBER 10.2mm 2 VPL210-08: 17.0mm?2 VPL310-10: 28.0mm?2
GE1] (Cv=0.6) (Cv=1.0) (Cv=1.65)
IEH =@
ERrE2) REE
FRENEE 0~1.0MPa(0~145psi)
RIEMESD 1.5MPa(215psi)
TERE -20~70°C
MR =P
U1 BREBERNCVERKBIASHIBIT RS,
UE21 0BInHER, PFEARTELE, BIGEEBAISO VG2 AR,

345

INODTOP

www.wodtop.com




VPLES! T

ray—1
o RENRFIE
S VPL110-06 #S. VPL210-08
. 0.7 T 07 T
L o6 ™ & o6 —
. L ) —
2 o5 \\\ 2 o5 ]
~— —
04 - o4 SN
R o3 A o3 —
M o2 ™ M 02— A\
i ™ B o4 N\
g \ \ T \
00 200 400 600 800 1000 1200 L 400 800 1200 1600 2000
ME: (L/min) AE: (L/min)
RS VPL310-10
0.7 ——
§ 0.6 =
I
S o5 ]
0.4 —
.
. 0.3 L
B o [
B 01 ———
B om0 100 et 200 0 a0 200
mE: (L/min)
¥ BROIVAEE NI ENR .

® RIS REBSHHIR

BKIRET
[
A

OZYR
L

ELIRET
E

1EfTiR2L

SBESK
IR

NRIRE
E=
Fie

O IN|O| | BD|W|N| =

[¢e]

P9

—=
o

N
N

=
N

-
w

=
N

www.wodtop.com WOIDTOP 346



® SMIZRY

FHl "

3-P

oD
| |
[{e)
K E
® o
E— <1
<
1PN
M
g <
ol 12
x & 1
2-9K KC
C

VPLA 3

PD

A 87 98 98 106.5 106.5
AB 47.8 57.8 57.8 66.5 66.5
AC 10 10 10 10 10

B 18 22 22 27 27

C 27 35 35 40 40

D 25 25 25 25 25

E M12x0.75 M14x1.0 M14x1.0 M16x1.0 M16x1.0

K 3.1 4.3 4.3 4.3 4.3
KA 21 25 25 30 30
KB 13 16 16 18 18
KC 7.7 8 8 10 10

L 3818 318 388 4.3 4.3
LA 19 30 30 35 35
LB 13 17 17 20 50
LC 14 13.5 13.5 15.5 15.5

B PT1/8 PT1/8 PT1/4 PT1/4 PT3/8
PA 16 22.5 22.5 24 24
PB 2 0 0 0 0
PC 15.5 17.5 17.5 21 21
PD 24.5 28.5 28.5 33 33
PE 1 0 1.5 0 2

INODTOP

www.wodtop.com




	3方向控制元件
	手拉阀 VPL系列


